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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı̨œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2017 › Ê≈√Ú, 2018 (December-2017 & June-2018) 

øˆ¬øM√√ ”̃˘fl¡ ¬Û±Í¬Sê˜ ø¬ı:±Ú › õ∂ ≈̊øMê√  
(Foundation Course in Science & Technology : FST)  

¸˜˚˛ – øÓ¬Ú ‚KI◊±¬(Time : 3 hours )  
Û”Ì«˜±Ú – 100 (Full Marks : 100) 

˜±ÀÚ¬ı˛ &èQ – 70%  (Weightage of Marks : 70%) 

¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ Œfl¡ÀÈ¬ 

ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – [ Î¬◊M√√¬ı˛ 250 ˙Às¬ı˛ ˜ÀÒ… 

¸œ˜±¬ıX ¬ı˛±‡± ¬ı±>Úœ˚˛ ] 20 × 2 = 40 

 [fl¡] ’±ø√̃  ¸˜±ÀÊ√ ø¬ıøˆ¬iß ˚La¬Û±øÓ¬ › ˝√√±øÓ¬˚˛±¬ı˛ ∆Ó¬¬ı˛œ¬ı˛ 

˜±Ò…À˜ øfl¡ˆ¬±À¬ı ø¬ı:±ÀÚ¬ı˛ Î¬◊»¬ÛøM√√ ˝√√̊ ˛ Ó¬± ¬ı…±‡…± fl¡èÚº 

õ∂ô¶¬ı˛ ˚≈À·¬ı˛ Œ˙¯∏ˆ¬±À· ’±ø√̃  ˜±Ú≈¯∏Àfl¡ Œfl¡±Úƒ øÊ√øÚ¯∏ 

¬ı…¬ı˝√√±¬ı˛ fl¡¬ı˛ÀÓ¬ Œ√‡± Œ·ÀÂ√ ∑  õ∂ô¶¬ı˛ ˚≈À·¬ı˛ ¬Ûø¬ı˛¸˜±ø5 

øfl¡ˆ¬±À¬ı ‚È¬˘ › ˆ¬±¬ı˛Ó¬œ˚˛ Î¬◊¬Û˜˝√√±À√À˙ Ó¬±¬ı˛ fl¡œ¬ı˛+¬Û 

õ∂ˆ¬±¬ı ¬ÛÀÎ¬ˇøÂ√̆  ∑ 10 + 3  + 7 

 [‡] ˆ¬±¬ı˛Ó¬œ˚˛ ŒÊ√…±øÓ¬ø¬ı«:±ÀÚ¬ı˛ ’¢∂·øÓ¬ÀÓ¬ ’±˚«ˆ¬A, 

¬ı¬ı˛±˝√√ø˜ø˝√√¬ı˛ › ¬ıËp¡&À5¬ı˛ ˆ”¬ø˜fl¡± ’±À˘±‰¬Ú± fl¡èÚº     

15 ˙ › 16 ˙ ˙Ó¬Àfl¡ ˝◊√√Î¬◊À¬ı˛±À¬Û ø¬ı:±ÀÚ¬ı˛ ø¬ıfl¡±˙ 

‚ÀÈ¬øÂ√̆  Œfl¡Ú ∑ 10 + 10  

 [·] ¬ıÓ«¬˜±Ú ˆ¬±¬ı˛ÀÓ¬ ’±Ò≈øÚfl¡ ¬Ûq¬Û±˘Ú ¬ı…¬ı¶ö± ¸•§Àg       

¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¡èÚº ’ôL«À√̇ œ˚˛ › ¸±˜≈ø^fl¡ 

˜»¸… ‰¬±¯∏ ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ ˆ¬±¬ı˛ÀÓ¬ ‰¬±¯∏ ˝√√̊ ˛ ¤¬ı˛fl¡˜ 

≈√øÈ¬ ∆Ó¬˘¬ıœÊ√, Î¬±˘˙¸… › Ó¬cÊ√±Ó¬œ˚˛ ˙À¸∏…¬ı˛ Ú±˜ 

ø˘‡≈Úº  10 + 4  + 6 

 [‚] õ∂˚≈øMê√¬ı˛ ¬ı…¬ı˝√√±¬ı˛ øfl¡ˆ¬±À¬ı ’±˜±À√¬ı˛ ’±ôL«Ê√±øÓ¬fl¡ ¬ı±Ê√±À¬ı˛ 

õ∂øÓ¬À˚±ø·Ó¬±¬ı˛ Î¬◊¬ÛÀ˚±·œ fl¡À¬ı˛ ŒÓ¬±À˘ ∑ õ∂˚≈øMê√¬ ¬ı˛5±øÚ 

øfl¡ ∑ ˆ¬±¬ı˛ÀÓ¬ ¬ıÓ«¬˜±ÀÚ õ∂˚≈øMê√ ¬ı˛5±øÚ¬ı˛ ’¬ı¶ö± ¸—Àé¬À¬Û 

ø˘‡≈Úº  10 + 3  + 7 

ø¬ıˆ¬±· - ‡¡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ ø√Ú – [ Î¬◊M√√¬ı˛ 120 ˙Às¬ı˛ ˜ÀÒ… 

¸œ˜±¬ıX ¬ı˛±‡± ¬ı±>Úœ˚˛ ] 12 × 3 = 36 

 [fl¡] ∆¬ıø√fl¡ ˚≈À· ø‰¬øfl¡»¸±˚˛ ’±˚˛≈À¬ı«ø√fl¡ ¬ÛXøÓ¬ ¸•§Àg 

ø˘‡≈Úº ë¬ı‘é¬±˚≈̨À¬ı«√í Œfl¡ Œ˘À‡Ú ∑ ¤˝◊√√ ø‰¬øfl¡»¸± ¬ÛXøÓ¬ 

¬Û˚«À¬ıé¬Ì-˘t ˝√√›˚˛± ¸ÀN› ¬Û¬ı˛¬ıÓ¬π fl¡±À˘ Œfl¡Ú ’±¬ı˛› 

’¢∂¸¬ı˛ ˝√√ÀÓ¬ ¬Û±À¬ı˛ øÚ ¬ıÀ˘ ’±¬ÛÚ±¬ı˛ ˜ÀÚ ˝√√̊ ˛ ∑ 
     8 + 1  + 3 
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 [‡] õ∂±‰¬œÚ ˆ¬±¬ı˛ÀÓ¬ q˘ˆ¬±¸”S Ê√…±ø˜øÓ¬¬ı˛ õ∂¸±¬ı˛ ¸•§Àg 

ø˘‡≈Úº  Œ¬ıË±? ˚≈À·¬ı˛ ¸ˆ¬…Ó¬±¬ı˛ ¬ÛÓ¬ÀÚ¬ı˛ fl¡±¬ı˛Ì øfl¡ ∑ 

∆¬ıø√fl¡ ˚≈À·¬ı˛ ¸±ø˝√√ÀÓ¬… Ó¬»fl¡±˘œÚ Ú±·ø¬ı˛fl¡ ¸˜±ÀÊ√¬ı˛ Œ˚ 

ø‰¬S ¬Û±›˚˛± ˚±˚˛ Ó¬± ø¬ı¬ı‘Ó¬ fl¡èÚº 4 + 4  + 4 

 [·] ¬Û‘øÔ¬ıœ¬ı˛ ’¬Û¸‘˚˛˜±Ú ’¬ı˛Ì… ’±¬ı¬ı˛ÀÌ¬ı˛ ’±˙Ç±Ê√Úfl¡ 

¬Ûø¬ı˛ø¶öøÓ¬¬ı˛ ’¬ı¸±Úfl¡Àä Œfl¡±Úƒ Œfl¡±Úƒ ¬ı…¬ı¶ö±¬ÛÚ± Ê√è¬ı˛œ 

˝√√À˚˛ ¬ÛÀÎ¬ˇÀÂ√ ∑ ¬ıÓ«¬˜±Ú ø‰¬øfl¡»¸± ¬ı…¬ı¶ö±˚˛ ∆Ê√¬ı õ∂˚≈øMê√ 

¬ı…¬ı˝√√±À¬ı˛ øfl¡ˆ¬±À¬ı ’±˜¬ı˛± Î¬◊¬Ûfl‘¡Ó¬ ˝√√¬ı ∑ 6 + 6  

 [‚] õ∂±ÀÌ¬ı˛ Î¬◊»¬ÛøM√√ ¸•§Àg ’±Ò≈øÚfl¡ Ò±¬ı˛Ì± ø˜˘±À¬ı˛¬ı̨ 

¬Û¬ı˛œé¬±¸˝√√ ø¬ı¬ı‘Ó¬ fl¡èÚº õ∂±fl‘¡øÓ¬fl¡ øÚ¬ı±«‰¬Ú øfl¡ ∑ 

Î¬±¬ı˛Î¬◊˝◊√√Ú¬ı±À√ õ∂±fl‘¡øÓ¬fl¡ øÚ¬ı±«‰¬ÀÚ¬ı˛ &èQ ’±À˘±‰¬Ú± 

fl¡èÚº 6 + 2  + 4 

 [„√√] ’Ô«ÕÚøÓ¬fl¡ Î¬◊iß˚˛ÀÚ Œ˚±·±À˚±· ¬ı…¬ı¶ö±¬ı˛ ˆ”¬ø˜fl¡± 

’±À˘±‰¬Ú± fl¡èÚº ŒÈ¬ø˘ÀÈ¬', ŒÈ¬ø˘Ù¬…±' › ŒÎ¬È¬±Ù¬…±' 

˚ÀLa¬ı˛ fl¡±˚±«¬ıø˘¬ı˛ ¸—øé¬5 ø¬ı¬ı¬ı˛Ì ø√Úº 6 + 6 

 [‰¬] øÚÎ¬◊flv¡œ˚˛ ø¬ıˆ¬±Ê√Ú õ∂øSê˚˛±˚˛ øfl¡ˆ¬±À¬ı ˙øMê√ Î¬◊»¬Ûiß ˝√√̊ ˛ ∑ 

˙‘∫˘ ø¬ıøSê˚˛± ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ fl¡ø•ÛÎ¬◊È¬±À¬ı˛¬ı˛ 

˝√√±Î«¬›˚˛±¬ı˛ › ¸Ù¬Èƒ¬›˚˛±À¬ı˛¬ı˛ fl¡±˚±«¬ıø˘¬ı˛ Ó≈¬˘Ú± fl¡èÚº  

    5 + 3  + 4 

ø¬ıˆ¬±· - ·¡ 
3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – [ Î¬◊M√√¬ı˛ 60 ˙Às¬ı˛ ˜ÀÒ… 

¸œ˜±¬ıX ¬ı˛±‡± ¬ı±>Úœ˚˛ ] 6  × 4 = 24 

 [fl¡] ˜˝√√±ø¬ıÀù´¬ı˛ Î¬◊»¬ÛøM√√ ¸•Ûøfl«¡Ó¬ ëø¬ı·-¬ı…±—í › ë¸≈ø¶öÓ¬ 
’¬ı¶ö±í Ó¬N ≈√øÈ¬ øfl¡ øfl¡∑ ø¬ı·-¬ı…±—-¤¬ı˛ ¸˜Ô«ÀÚ ¸±é¬… 
õ∂˜±Ì øÚÀ√̇ « fl¡èÚº 2 + 4 

 [‡] ø˙äÀé¬ÀS Ó¬c-’±À˘±fl¡ ø¬ı√…±¬ı˛ ø¬ıøˆ¬iß õ∂À˚˛±· 

’±À˘±‰¬Ú± fl¡èÚº 6 

 [·] Î¬◊¬Û˚≈Mê√ Œ¬ı˛‡±ø‰¬S¸˝√√ ¬ı±dÓ¬ÀLa ˙øMê√õ∂¬ı±˝√√ ¬ıÌ«Ú± fl¡èÚº  

   6 

 [‚] ë∆¬ı:±øÚfl¡ ¬ÛXøÓ¬¬ı˛í ’±¬ıø˙…fl¡ ˙Ó«¬&ø˘ Î¬◊À~‡ fl¡À¬ı˛ 

Ó¬±À√¬ı˛ ¬Û±¬ı˛¶Ûø¬ı˛fl¡ ¸•§g ¤fl¡øÈ¬ Œ¬ı˛‡±ø‰¬ÀS¬ı˛ ˜±Ò…À˜ 

Œ√‡±Úº  6 

 [„√√] ’±ø√ õ∂ô¶¬ı˛ ˚≈À·¬ı˛ ’±ø√̃  ˜±Ú≈À¯∏¬ı˛ Œ¬Û±¯∏±fl¡ ¬Ûø¬ı˛26√√ › 

’±&ÀÚ¬ı˛ ¬ı…¬ı˝√√±¬ı˛ ¸•§Àg ø˘‡≈Úº 3 + 3 

 [‰¬] ¬Ûø¬ı˛À¬ıÀ˙¬ı˛ Î¬◊¬Û¬ı˛ Sê˜¬ıÒ«˜±Ú Ê√Ú¸—‡…±¬ı˛ õ∂ˆ¬±¬ı 

’±À˘±‰¬Ú± fl¡èÚº 6 

 [Â√] ˜Ò…˚≈À·¬ı˛ ˆ¬±¬ı˛ÀÓ¬¬ı˛ Â√̊ ø̨È¬ ’øˆ¬Ú¬ı õ∂˚≈øMê√·Ó¬ 

’±ø¬ı©®±À¬ı˛¬ı˛ Ú±˜ ø˘‡≈Úº 6 

 [Ê√] Œ¬ı˛±¬ıÈ¬ƒ øfl¡ ∑ Œ¬ı˛±¬ıÈ¬ƒ ¬ı…¬ı˝√√±À¬ı˛¬ı˛ fl¡À˚˛fl¡øÈ¬ ’¸≈ø¬ıÒ±¬ı˛ fl¡Ô± 

Î¬◊À~‡ fl¡èÚº 1 + 5 
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( English Version ) 
Group-A 

1. Answer any two questions : ( Write each 
answer within 250 words ) 20 × 2 = 40 

 a) How did science gradually take root in 
primitive society through making of 
different tools and weapons ? What late 
stone age tools were in use ? How did 
the stone age come to an end and what 
was its impact on the Indian 
subcontinent ? 10 + 3 + 7  

 c) Discuss the role of Aryabhatta, 
Barahamihir and Brahmhagupta in the 
development of Indian astronomy. Why 
did science flourished in 15th and 16th 
century Europe ?  10 + 10 

 c) Briefly discuss the modern animal 
husbandry practices in present day 
India. What do you mean by inland and 
marine fishery ? Name two (each) of oil- 
seed, pulses and fibre crops that are 
being cultivated in India. 10 + 4 + 6  

 d) How does the use of technology enable 
us for the competition in international 
market ? What is technology export ? 
Briefly state the scenario of technology 
export in modern India. 10 + 3 + 7 

Group - B 

2.  Answer any three questions :  ( Write each 

answer within 120 words )  12 × 3 = 36 

 a) Write about the Ayurvedic system of 

medicine practised during  Vedic 

period. Who wrote 'Vrikshayurveda' ? 

What do you think about further 

progress of Ayurvedic system which did 

not occur despite its empirical basis ? 

    8 + 1 + 3 

 b) Give an account on the spread of 

Sulvasutra geometry in ancient India. 

Why did the Bronze-era civilization 

comes to an end ? Describe the city life 

as depicted in Vedic literature. 4 + 4 + 4   

 c) What measures need to be adopted on 

an urgent basis for management of 

depleting forest cover on Earth ? How 

application of biotechnology can render 

benefits to  us in present day    

medicine ? 6 + 6  
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 d) Discuss the modern concept about 

origin of life along with Miller's 

experiment. What is Natural Selection ? 

Discuss the importance of natural 

selection as in Darwinism. 6 + 2 + 4 

 e) Discuss the role of communication 

system in economic development. 

Briefly discuss the working principle of 

teletex, telefax and datafax. 6 + 6 

 f) How does nuclear fission yields    

energy ? What is chain reaction ? 

Compare the working of computer 

hardware and software. 5 + 3 + 4 

Group - C 

3.  Answer any four questions : ( Write each 

answer within 60 words ) 6 × 4 = 24 

 a) What are the 'Big-Bang' and 'Steady 

State' theories of origin of universe ? 

Cite evidences in favour of the Big-Bang 

theory. 2 + 4 

 b) Write on the different applications of 

fibre optics in industry. 6 

 c) Describe the energy flow in an 

ecosystem with appropriate line 

diagram. 6 

 d) State the essential prerequisites of 

'scientific method' and depict their 

mutual relations with the help of a line 

diagram. 6  

 e) Write about the use of clothing and fire 

by the primitive people of Palaeolithic 

age.  3 + 3 

 f) Discuss the effect of increasing human 

population on environment. 6  

 g) Name six unique technological 

innovations of medieval India. 6  

 h) What is robot ? Mention some 

disadvantages of its use. 1 + 5 

    


